STATE OF MINNESOTA DEPARTMENT OF TRANSPORTATION - TABULATION OF BIDS

Letting: 16081100 Counties: **WINONA** Letting Dt: August 11, 2016 1:00 P.M. District(s): Bridge Span: Yes 43=075 State Proj.: 8503-5900E Route: Start Dt: 10/03/16 Comp. Dt: 11/01/19 Contract ID: 160605 Contract Time: Min: Max: **Contract Description:** CMGC WORK PACKAGE #5 BRIDGE #5900 THROUGH-TRUSS REHABILITATION AND APPROACH SPAN REMOVALS. **Contract Location:** LOCATED ON TH43, 4TH ST TO LATSCH ISLAND ENTRANCE. Recommendation: Award To Low Bidder I, the undersigned certify that this abstract is a correct tabulation of all bids received on this (these) Project(s), and that the legal requirements have been complied with relating to competitive bidding, Approved: Construction Engineer Award Date: 9-1-16 Contract Administration Engineer

Rank	Vendor ID	Vendor Name	Total Bid	% Over Low Bid	% Over Estimate
0	-EST-	Engineer's Estimate	\$40,581,507.12	104.18%	100.00%
1	0000207855	AMES CONSTRUCTION INC	\$38,954,318.05	100.00%	95.99%

Contract ID: 160605			_etting Date:	August 11, 2016		
Line No / Item ID Item Description		Engineer's	Estimate	(1) AMES CONS	TRUCTION INC	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price Ext Amount
SECTION: 0001 SP 8503-5900E		1				
0010 2011601/00010 VIBRATION MONITORING	(1) LS	48,240.00000	48,240.00	25,000.00000	25,000.00	
0020 2013602/00051 TCLP TEST	2.000 EACH	2,144.00000	4,288.00	1,800.00000	3,600.00	
0030 2016601/00050 QUALITY MANAGEMENT	(1) LS	1,105,480.50000	1,105,480.50	930,000.00000	930,000.00	
0040 2016601/00070 SAFETY MANAGEMENT	(1) LS	561,942.00000	561,942.00	900,000.00000	900,000.00	
0050 2021601/00011 MOBILIZATION, BRIDGE	(1) LS	2,594,139.00000	2,594,139.00	1,950,000.00000	1,950,000.00	
0060 2031501/00042 FIELD OFFICE TYPE D-MODIFIED	1.000 EACH	145,390.00000	145,390.00	160,000.00000	160,000.00	
0070 2104501/00040 REMOVE GUARDRAIL	4,590.000 L F	8.35000	38,326.50	8.00000	36,720.00	
0080 2104601/00210 REMOVE REGULATED WASTE MATERIAL (BRIDGE)	(1) LS	52,500.00000	52,500.00	56,000.00000	56,000.00	
0090 2105601/00022 CONSTRUCT ACCESS FACILITIES	(1) LS	298,501.08000	298,501.08	200,000.00000	200,000.00	
2401513/07247 TYPE MOD P-2 (TL-4) RAILING CONCRETE (3Y46)	1,825.000 L F	139.64000	254,843.00	126.00000	229,950.00	
2401541/00011 REINFORCEMENT BARS (EPOXY COATED)	260,567.000 LB	1.83000	476,837.61	2.25000	586,275.75	
0120 2401601/00010 STRUCTURE EXCAVATION	(1) LS	27,763.46000	27,763.46	147,000.00000	147,000.00	

ontract ID: 160605				Letting Date:	August 11, 2016			
Line No / Item ID			Engineer's	Estimate	(1) AMES CONS	TRUCTION INC		
Item Description Alt Set / Alt Member	Quantity and	Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
ECTION: 0001 SP 8503-5900E								
0130 2401601/00400	(1)		7,875.00000	7,875.00	15,000.00000	15,000.00		
CLEARANCE GUAGE		LS						
0140 2401601/00900	(1)		52,500.00000	52,500.00	45,000.00000	45,000.00		
SCAN RIVER BOTTOM		LS	127		= 2	0.000		
0150 2401601/08010	(1)		9,583.68000	9,583.68	75,000.00000	75,000.00		
SUPPLEMENTAL DESCRIPTION REMOVE, ROTATE REINSTALL SCOUR MONITORING SYSTEM		LS		Andrew Consequence	3800 * 300 0000000000000000000000000000000000			
0160 2401601/08010	(1)		1,956,912.00000	1,956,912.00	1,100,000.00000	1,100,000.00		
SUPPLEMENTAL DESCRIPTION WORK PLATFORM		LS						
0170 2401618/00002	19,727.000		3.68000	72,595.36	4.00000	78,908.00		
SPECIAL SURFACE FINISH (INPLACE)		SF						
0180 2401618/04001	30,171.000		42,49000	1,281,965.79	44.00000	1,327,524.00		
BRIDGE SLAB CONCRETE (3YHPC-M)		SF						
0190 2401618/50010	26,666.000		1.51000	40,265.66	2.30000	61,331.80		
BRIDGE DECK PLANING		SF		56-100 Min 1874 1875 1876 1876 1876 1876 1876 1876 1876 1876		8997.8-4-00CH008.000025C1		
2200 2402532/00009	11,673.000		5.40000	63,034.20	2.50000	29,182.50		
FURNISHING STRUCTURAL STEEL (3309)		LB						
210 2402591/00400	33.000		137.64000	4,542.12	290.00000	9,570.00		
EXPANSION JOINT DEVICES TYPE 4		LF						
220 2402602/08010	7.000		4,139.26000	28,974.82	6,700.00000	46,900.00		
SUPPLEMENTAL DESCRIPTION DISC-TYPE BEARIN ASSEMBLY		EACH		,_,	_,, _ 5,00000	.5,550,55		
230 2402603/01090	33.000		2,895.74000	95,559.42	3,700.00000	122,100.00		
MODULAR BRIDGE JOINT SYSTEM TYPE 9		LF						
240 2402603/08010	1,825.000		215.36000	393,032.00	265.00000	483,625.00		
UPPLEMENTAL DESCRIPTION STRUCTURAL TUBE ESIGN MODIFIED T-1 SPECIAL PC	-11/	LF		II				

Contrac	et ID: 160605			I	∟etting Date:	August 11, 2016			
	No / Item ID Description			Engineer's	Estimate	(1) AMES CONS	TRUCTION INC		
Alt S	Set / Alt Member	Quantity and	Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
ECTIO	N: 0001 SP 8503-5900	DE							
0250	2433505/00005	31,108.00	0	21.43000	666,644.44	45.00000	1,399,860.00		
REMO'	VE CONCRETE SLAB, CURBS, OVERL	AY AND RAIL	SF						
0260	2433601/08010	(1)		23,456.70000	23,456.70	25,000.00000	25,000.00		
SUPPL	EMENTAL DESCRIPTION SALVAGE	TRUSS	LS						
0270	2433602/08010	26.000	-	6,814.50000	177,177.00	7,000.00000	182,000.00		
	EMENTAL DESCRIPTION CLEAN, PAI CATE PIN TYPE L	NT, AND	EACH						
0280	2433602/08010	250.000		300.00000	75,000.00	150.00000	37,500.00		
	EMENTAL DESCRIPTION MATERIAL F G BARS TYPE N	FOR REPLACE	EACH						
0290	2433602/08010	61.000		29,134.50000	1,777,204.50	27,000.00000	1,647,000.00		
	EMENTAL DESCRIPTION MODIFY CO EEN FLOORBEAM AND TRUSS BOTTO		EACH						
0300	2433602/08010	39.000		3,031.50000	118,228.50	2,400.00000	93,600.00		
	EMENTAL DESCRIPTION REMOVE W HMENTS AND GRIND FLUSH TYPE E	ELDED	EACH						
0310	2433602/08010	17.000		46,221.00000	785,757.00	41,200.00000	700,400.00		
	EMENTAL DESCRIPTION REPAIR FLO M CHORD CONNECTION TYPE C	OORBEAM TO	EACH						
0320	2433602/08010	6.000		18,207.00000	109,242.00	16,500.00000	99,000.00		
	EMENTAL DESCRIPTION REPLACE B NG TYPE M	OTTOM LATERAL	EACH						
330	2433602/08010	936.000		185.25000	173,394.00	200.00000	187,200.00		
	EMENTAL DESCRIPTION REPLACE E HIGH STRENGTH BOLTS TYPE S	XISTING RIVETS	EACH				~		
340	2433602/08010	250.000		1,515.00000	378,750.00	1,300.00000	325,000.00		
SUPPLI N	EMENTAL DESCRIPTION REPLACE LA	ACING BARS TYPE	EACH						
350	2433602/08010	7.000		3,181.50000	22,270.50	5,200.00000	36,400.00		
	EMENTAL DESCRIPTION REPLACE LO NG HANGER ROD TYPE G	OWER LATERAL	EACH		±1				
360	2433602/08010	3.000		195.00000	585.00	250.00000	750.00		
	EMENTAL DESCRIPTION REPLACE M OLTS TYPE R		EACH		an enterent of	1000 000 000 000 000 000 000 000 000 00			

contract ID: 160605			Letting Date:	August 11, 2016			
Line No / Item ID		Engineer's	Estimate	(1) AMES CONS	TRUCTION INC		
Item Description Alt Set / Alt Member	Quantity and Units	s Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
ECTION: 0001 SP 8503	-5900E						
0370 2433602/08010	42.000	9,622.50000	404,145.00	9,500.00000	399,000.00		
SUPPLEMENTAL DESCRIPTION REPLA H	ACE PLATE IN KIND TYPE EA	СН					
0380 2433602/08010	38.000	21,511.50000	817,437.00	26,000.00000	988,000.00		
SUPPLEMENTAL DESCRIPTION REPLA	ACE STRINGER TYPE F EA	СН					
0390 2433602/08010	76.000	66,582.00000	5,060,232.00	53,000.00000	4,028,000.00		
SUPPLEMENTAL DESCRIPTION STREM WITH HIGH STRENGTH BARS TYPE B	NGTHEN TRUSS MEMBER EA		, ,				
0400 2433602/08010	148.000	71,946.00000	10,648,008.00	62,400.00000	9,235,200.00		
SUPPLEMENTAL DESCRIPTION STREM WITH PLATES TYPE A	NGTHEN TRUSS MEMBER EA	СН					
2433603/00430	1,517.000	44.37000	67,309.29	55.00000	83,435.00		
SEAL STRUCTURAL CRACKS		LF					
2433603/08010	933.000	88.71000	82,766.43	110.00000	102,630.00	×	
UPPLEMENTAL DESCRIPTION REMOV	VE SIDEWALK	LF					
430 2433618/00170	162.000	268.00000	43,416.00	280.00000	45,360.00		
IISTORIC CONCRETE SURFACE REPA	IR TYPE 1	SF					
440 2433618/00170	475.000	335.00000	159,125.00	300.00000	142,500.00		
ISTORIC CONCRETE SURFACE REPA	IR TYPE 2	SF					
450 2442501/00010	(1)	887,062.58000	887,062.58	1,500,000.00000	1,500,000.00		
EMOVE EXISTING BRIDGE		LS					
460 2452602/08010	1.000	101,365.64000	101,365.64	185,000.00000	185,000.00		
UPPLEMENTAL DESCRIPTION PIER 18 TRUT	8 VESSEL COLLISION EAG	8					
470 2452602/08010	1.000	101,365.64000	101,365.64	185,000.00000	185,000.00		
JPPLEMENTAL DESCRIPTION PIER 19 FRUT	9 VESSEL COLLISION EAC	СН	The second secon				
480 2476601/00010	(1)	3,821,475.00000	3,821,475.00	4,500,000.00000	4,500,000.00		
EAD SUBSTANCES COLLECTION AND		LS					

Contract ID: 160605			Letting Date:	August 11, 2016			
Line No / Item ID Item Description		Engineer's	Estimate	(1) AMES CONS	TRUCTION INC		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 SP 8503-5900E							
0490 2478506/00010	287,653.000	7.88000	2,266,705.64	8.00000	2,301,224.00		
ORGANIC ZINC-RICH PAINT SYSTEM (OLD)	SF						
0500 2511602/08010	3,046.000	347.06000	1,057,144.76	200.00000	609,200.00		
SUPPLEMENTAL DESCRIPTION GEOTEXTILE CO	ONTAINER EACH		390 18				
0510 2511609/00011	17,012.000	33.50000	569,902.00	31.00000	527,372.00		
RANDOM RIPRAP SPECIAL	TON				200 - 200 -		
0520 2545509/00011	(1)	409,500.00000	409,500.00	550,000.00000	550,000.00		
CONDUIT SYSTEM (LIGHTING)	LS						
0530 2545601/00119	(1)	61,746.30000	61,746.30	120,000.00000	120,000.00		
ELECTRICAL LIGHTING SYSTEM (BRIDGE NAVIDANTERN)			•				
0540 2563601/00010	(1)	50,000.00000	50,000.00	35,000.00000	35,000.00		
TRAFFIC CONTROL	LS		×				
0550 2575601/00010	(1)	50,000.00000	50,000.00	65,000.00000	65,000.00		
EROSION CONTROL	LS	- Some film remarks and planting of 1950.	965 - 1956 - 1956 - 1956 - 1956 - 1956 - 1956 - 1956 - 1956 - 1956 - 1956 - 1956 - 1956 - 1956 - 1956 - 1956 -		ne en de la constant		
	Section Totals:		\$40,581,507.12		\$38,954,318.05		

Contract Item Totals	\$40,581,507.12	\$38,954,318.05
Contract Time Totals	\$0.00	
Contract Life Cycle Costs Totals	\$0.00	\$0.00
Contract Grand Totals	\$40,581,507.12	\$38,954,318.05
() indicates item is bid as Lump Sum		